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Dricken Sie dasvisuelle Problem als Gleichung mit Antwort aus.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Zusammenpassende Addition

Name:

VA A AA
W W W W
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OO0
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o0

(A A A A

e L

00000, | 00000
00 0000

OB A EE

HEE - SoEEE
R R

J¢7¢7¢7¢7¢ 2¢7¢7¢7¢7¢
J(7¢ J(7¢
ICICTEICIC T

Antworten

10.
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Dricken Sie dasvisuelle Problem als Gleichung mit Antwort aus.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Zusammenpassende Addition

Name:

L dsungsschllisse

GEeee .
T
90000
OO0 OO
(A R R A )
vee (A B B |
O0000! ., 100000
o0 0000
EEEEE
— DEEEE
R 2 2 9
AN
}(}( f(}(
Yedededede|+| Ve

Antworten

9+1=10

8+2=10

8+1=9

3+9=12

6+1=7

7+9=16

3+10=13

3+3=6

7+7=14

10.

S+2=7
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